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General Instructions :

(Q)

(i1)

(i)

(iv)

(v)

(vi)

There are 36 questions in all. All questions are compulsory.
Marks for each question are indicated against the question.

Questions from serial number 1 to 16 are Multiple Choice
Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

Questions from serial number 17 to 29 are 3 marks questions.
Answers of these questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History
and Question number 36 is a map question of 3 marks from
Geography.

(vii) Attach the filled up maps inside your answer-book.
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1. Which one of the following statements is nrot# true about Giuseppe

Mazzini ? 1

(A) He wanted a united Italian Republic.
(B) He founded an underground society called ‘Young Italy’.
(C) He wanted Italy to be a monarchy.

(D) He was exiled for attempting a revolution in Liguria.
OR

Which one of the following is true about Phan Chﬁ Trinh ? 1
(A) He was educated in the Confuciran tradition. |

(B) He was influenced by Liang Qichao.

(C) He wrote the book, ‘The History of the Loss of Vietnam’,

(D) He wanted Vietnam to be a democractic republié.

oY A = favm ¥ Pefefen s § Qe wd owEt g 2
(A) 3ET = TOUGT H TR HAT 9T |

(B)  $§- =7 TTell’ WIS WO &

(C) 387 == W TS ©itd F¢ 9@ |

D) 3 T § Wi} &R & fau feifaa fear @
areran

A g g% 5 ded § frafafea § 9 w0 owd g 2

(A) =& =hea e b il 4

(B) =& TEm fEEsh ¥ wwfad 9 )

(C) 3% T B 3w g o % foaaamw A e fordt |
(D) =% foua ™ # shditd TURST S 9T FAT AR 2 |
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2. Which country broke away from the ‘United Kingdom of the
Netherlands’ after July Revolution of 1830 ?

(A) Belgium
(B) Greece
(C) Ireland

(D)  Scotland
OR

Which one of the following modern countries was not part of
Indo-China ? '

(A) Thailand

(B) Vietnam

(C) Laos

(D) Cambodia

11830 ¥ ¥ foRe ¥ 9 FA@ W qAeds fmen W% g fewrew W@

ST I 7

&) e
B) Fw
(C) 3TERcvE
(D) wHEATS

. HYAT
frefefa oMy e § § wAE TH <N SUS-ERAl & MA@ @ ?
(A)  9EeTS

®) foem
(©) =
(D) Frmifear

32/2/1 4



3. Who among the following wrote ‘Vande Mataram’ ? 1
(A) Abanindranath Tagore |
(B) Rabindranath Tagore
(C) Bankim Chandra Chattopadhyay

(D) Natesa Shastri
frafafag # ¥ foem de 9w’ e 2

(A) RS TR

(B) W=EAE IR

©) dfen == FgoEE
(D)  Four e

4. Which of the following statements is not true about the Simon
Commission ? 1

(A) It was appointed by Sir John Simon.
(B) It did not have any Indian member.
(C) It was opposed by all parties in India.

(D) It was set up to look into the Constitutional system in India.

g FAYE % v § Freafaa s § 9 s 98 9@ R 2
(A)  THE YR W S 958 3 3

(B) T s off yRdG e & o |

(C) 39& wRa ¥ §f Widal g aigsRr fohar T |

(D) THSH ST IR § GG ol i SVl & I KA & faw
T

5. Which one of the following states h‘as the largest wind-farm cluster ? 1
(A) Himachal Pradesh |
(B) Tamil Nadu
(C) Gujarat
(D) Rajasthan
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ﬁqﬁ@amﬁﬁmmﬁwmﬁmﬁmﬁﬁ%?
(A) o <

(B) i g
(C) TSI
(D) TSI
6. What for is Moran-Hugrijan famous ? | 1

(A) Atomic energy

(B) = Solar plant

(C) Coal reserve

D) Ol field »
Ti-griee fRes fae 3REs 7 7

(A)  TE] FHS
(B) R F= g4
(C) HIE WUSR
(D) I &

7.  Which one of the following public sector plants is located in
Chhattisgarh ? A 1

(A) Bokaro Steel Plant

(B) Bhilai Steel Plant

(C) Durgapur Steel Plant

(D) Rourkela Steel Plant

e wesfm 8 F W ¥ A e sdes # Rad @ 2
(A) SIeN 3G G

(B) fraR gwE €A

(C) Fq sema W

(D) TS WA A
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8. By whom are Super Highways being implemented ?

(A) CPWD
(B) BRO
(C) NHAI
(D) PWD

T oM R et & sifuen & § § 2
A) 3= A i fawm

(B) dMr 9% A

(C) YRAE TP TRl FIEROT

(D) TF & gEwqg o faam

9. ‘FEDECOR is an example of
(A) Communist political party in Nepal
(B) An organisation in Bolivia
(C) A student organisation
(D) A public interest group
(A)  Fud H FRAE USHIas TRl H
B) afafaw § & @A H
(C) U& BH WA &
D) T weEE foqd W W

10. Why was Narmada Bachao Andolan started ?
(A) - To clean the river Narmada
(B) To help people displaced by the Sardar Sarovar Dam
(C) To fight for gender equality
(D) To build embankments to prevent flooding of Narmada
T FEE AR R YE g a1 ?
(A) T A A OTwE F
(B) WER W a4 & g foRaifia @l & weg & fou
(C) fam waHar & fow gy
(D) T & g ¥ g9E & fau qedd F fmivr & o
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11. Which one of the following is the oldest political party in India ?
(A) Communist Party of India — Marxist '
(B) Indian National Congress
(C) Janata Dal
(D) Bharatiya Janata Party (BJP)
o Freeted ¥ Q@ SRE e W o T d 2
(A) AdE FRfTE W - e
(B) R TP &Y
(©) = &=
D) aRdE SFar W@l (@)
12, Women in Saudi Arabia do not have the right to vote or take part in
public activities. What challenge does this country face ?
"(A) Foundational challenge
(B) Challenge of expansion of democracy
(C) Challenge of deepening of democracy

(D) None of the above

TS e # Afgemsil # ud N e el TidfafuEi § o9 o @ sifieR
T2 | T I RN YER A A H W Wear & 7

(A) g SMER S F AR
B) @ ¥ FER B T
©) a9 T A
D) T & FE ot

13. Which one of the following is a modern form of currency ?

(A)  Gold -
(B) Silver
(C) Copper

(D) Paper notes
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,ﬁwﬁ@aﬁ@ﬁwgﬂwﬁaﬂgﬁam%?

(A) 9
(B) =R
(C) dfan
D) TS F e

14. The Informal source of credit does not include which one of the
following ? ‘ _ , 1

(A) Traders

(B) Friends

(C) Cooperative Societies

(D) Money—lendérs

frafafed & @ 69 @@ & w0 F sHivais g § wire 78 fFar S @ 2

(A) =
B)
(C) wear wfHfl
(D) IEHER
15. Liberalisation involves which one of the following ? 1

(A)  Removal of trade barriers

(B) Increasing sﬁbsidy on fertilizers
(C) Increasing import duties on goods
(D) Increasing export duties on goods
frafafed & & wie Seden § wfte € 2
(A) SR EUEH F g

(B) SdW W fEs HerEal qgMl

(C) a&l W R Yok TgH

(D) F&gE | fafd o ag
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16. Which one of the following statements is false ? 1
(A) The consumer has a right to represent in the Consumer Court.
" (B) The consumer redressal process is very simple and very quick.

(C) Hallmark is the certification maintained for standardisation of
jewellery.

(D) The consumer has the right to be informed.
frafefaa & ¥ @9 F99 T & 2

(A)  SUHRE H IUNRE A § S w0 # SRR 7
(B) 3udRA fTEROT Wik 95 Wil a97 9gd YW 7 |

(C) o SoUd F UIE & G $ H AT ¢ |
(D) IUNH W GEA TH W AER 2

17. Explain in three points, how Ireland was 1ncorporated into the United

Kingdom in 1801. 3Ix1=3
OR

Explain any three factors that led to the outbreak of bubonic plague

in the modern part of Hanoi in 1903. Ix1=3

¥ 1801 # aTaweive @l gRes fwen A fow wwR wite fhar e, o gl
7 @y ST |

| T
Y9 1903 # F% & g 9 H @i @7 F bed F IR 99 FRe W
T |

18. How did Gandhiji try to integrate the Depreésed Classes into society ?
Explain any three points. Ix1=3

Wﬁa@ﬁaﬁﬁwﬁsﬁ@ﬁ%mmwmm7aﬁé?ﬁ?ﬁg
Wy HET |

19. “Solar energy is expected to play an important role in India.” Give

three arguments in support of the statement. : Ix1=3

Wﬁﬁ(ﬁﬂﬁ@ﬂ%ﬁ@%ﬂ%ﬁﬁﬁ%l”ﬁ%ﬁﬂﬁg@ﬁ?ﬁ?
GERHIS I
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20.

21.

22.

23.

24.

25.

26.

27.

28.

Explain three phases in which treatment of industrial effluents can be
done. , Ix1=3

3T O GO @ wWE S S sl Siifies Sufisl w e (3wR) fear
ST HHT © |

“Agriculture and industry are complementary to each other.” Support
the statement giving three points. 3Ix1=3

“Ffy i AT T TR F [H § 7 9 Fg I 8¢ 39w A I Ff |

“Popular struggles do not end with the establishment of democracy,
they are an integral part of the working of a democracy.” Explain this
statement with reference to the struggle in Bolivia. 3
“SHHesl @ 9T @ieds @ W % WY T A 3, a8 A3 &b
Siaaa & ofm sfm € 17 afdfer # guoded % Oef # 3w wew @ e
ST | |

How is democracy superior to any other form of government ? Give
three points. Ix1=3

Ak I 31T e el ¥ 59 YR de 2 A fag df |

“Constant complaints by people can be seen as a testimony to the

success of a democracy.” Explain. 3
A Rl B IUET 99 @ e # SRl & TERl % 9 § @ S
g 2 17 WY HGT |

“The best laws to bring about political reform are those that empower
citizens.” Justify this statement with an example. 3

“TerifaE QIR A9 & o oad o8 SRE 9 § S i @ 9eRe 5 § 17
TR GEd 39 F9F H FgUTd fgawmr S |

What has been the impact of globalisation on India ? Explain. 3
9RA # SvEET H F G9E gen g 7 WE HNT |

What are the benefits of Foreign Trade to producers and consumers ? 3

faeeh =R & SqES R IyHRES w® owr ey § ?

Why is consumer awareness spreading slowly ? Give three reasons. JxI=3

SUARA STEwR HR-4R b S @ 2 9 @R S |
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35. Two features (1) and (2) are marked in the given political outline map
of India (on page 17). Identify these features with the help of the
following information and write their correct names on the lines
marked in the map : 2x1=2
(1) The place, where the Indian National Congress Session of
September 1920 was held.

(2) A place associated with the Civil Disobedience Movement.

OR
Locate and label the following items with appropriate symbols on the
same political outline map of India (on page 17) : 2x1=2

1) Madras — The place, where the Indian National Congress Session
of 1927 was held.

(ii) Champaran — The place of the Movement of Indigo planters.
AR & fog ¢ Torifas W@-aEtE (T8 17 ®) F & @ (1) R (2) sifed
fFu 7T € | T dwul @ AR & T SEeR # #ee ¥ TeEigU iR I9% §d AW
T WS T e ®fafay
(1) 98 W 9@ faaat 1920 § 9ra Tgi S &A@y gem or |
(2) WT ES SRR § ST TS @

Agar
frafafed 7d 1 WRa & T [SHIaE W@-AAET (9 17 ®) W I9GE 981 9
femmy ik 379 & 9m fafau
i) HEE- wwwmwﬁmﬂ@wmmﬁmﬁ@ﬂmi
(i) ¥HUE - 98 W W@ 9 & Of $9 9 FEE A e e o |

Note : The following questions are for the Blind Candidates only, in
lieu of Q. No. 35.

(35.1) Name the place where the Indian National Congress Session of
September 1920 was held.

(35.2) Name the place where the Civil Disobedience Movement
started. 2x1=2

ez : Frefafas o7 a0 SfvdT Tenfdat & T 597 G 35 % @ W §

(35.1) S9 WM & ¥ IqRE, T fGaER 1920 § wRAE TEE SE9 # sifevE
<

(35.2) IW WM F AN AARY, S § T SO A T g AT |
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36. Three features (a), (b) and (c) are marked in the given political outline
map of India (on page 19). Identify these features with the help of the
following information and write their correct names on the lines

marked in the map : ‘ IxI1=3

(a)  Software Technology Park
(b)  Mica Mine

(¢) A major sea port

OR
Locate and label the following items on the same political outline
map of India (on page 19) with appropriate symbols : 3x1=3

1) Madurai — Cotton Textile Industry
(ii) Bhubaneshwar — Software Technology Park

(iii) Amritsar — International Airport

W%mmmﬁ%%@-mﬁa(w19W)ﬁ?ﬁ=raav1(a),(b)3ﬁt(cjaim
fFT TC § | 3T ROl B AN @ T IR & 9eE ¥ 9T o 3% uE AW
Ao W diE T8 el | fafeu

(a) Eieaw WENfe Uk
(b)’ AYE @A

(0) S F W
’ AT

frefefad W # WRE & T TeRiE AR (T8 19 W) W S HE @

@) € - T 9% I =
() YT - WiredR S
(i) ST - FAUEE TAE Ta4
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Note : The following questions are for the Blind Candidates only, in
lieu of Q. No. 36. :

(36.1) In which city is Indira Gandhi International Airport located ?
(36.2) Name the state where the Kandla Sea Port is located.

(36.3) Name the western terminal of the East-West Corridor. 3x1=3

e : Ffafaa 797 dac7 givgiT aftenfaal’ & T o7 W&wr 36 & T W § |

(36.1) s el Figha &ars o e TR H R 8 2
(36.2) 3@ U9 W W qany EH Fear TR wH fud § |
(36.3) yd-ufvem TieER & Wivedl AR & R H TH TR |
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T3 §. 35 U9 35 (3yeEn) F o

Outline Map of India (Political)

For question no. 35 and 35 (OR)

A & TAT- A (TSTHE)

17
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I3 9. 36 TE 36 (3teFm) F faw

Outline Map of India (Political)

For question no. 36 and 36 (OR)

WRA &1 T@l-9HfET (TEHITE)

3,300
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